® Answed K‘a,
Q.P. Code: 5, Ly 711

(3 Hours) [Total Marks: 100}

N. B.: All questions are compulsory.
T4 y¥ Srefyr AEvE® TS,
All question carry equal marks.
| YT AT T T
Figures to the right indicate full marks.

Soifaendrer @i Yo7 0T SHfAm.
Text: Prose and Poetry

Q.1. Translate any two of the following: [20]

TS éﬂq*r*.a@ou WL ECH
SufE WA CTeRf—6T q @ Sudd Sy omwlh Sedd gusd Sfe:, T
Frotarfy? Gy @ SufE WG wreai-ad @ eufe @ fyeew, U@ @ Imfe
maﬁaﬁﬁg@ﬁﬁﬁw,qaﬁﬁm”mm@wﬁwwﬁﬂﬁ@ﬁﬁ—“ﬁ@
mwmﬁ,mwwlﬁﬁmmﬁm@@mm
Seade ga@sd Sae, 7 9 el

2] 47 @ T FEHIT TR THGT TeE Bl USSR G

(qerdl) . T SuTele AE—aRSaAr R e, “Horcar STRI ST ¥ e, e AR
R GaT GEH g AR ? T G VIR A ?” YT T SR € e ledi— SR & el
frfevarsy R o) < §1E gEdie, SR & I (o) Ridet TR i #e SivR e, TR e
ST ATt SR & AT (TIfrer) FRrdke TR & e ST ol SeTe TredT HiSal §iY AN

bl “Hid 308 ufesf, 7a! @@ T
gy T Hehd, faf iy gigarl

N

=
T - PRy e e =
T T T CTTOT T = T ST
FETITE Hia, Gedin sHCeEIa |
,

SR gawrsd, Faded iR |
o & ufvedy O, s e i

ST “od) T Siead, T8 gR) SR gal.
TRYSOTITT, weaxiHT aerd RIRRRITe aufer gar. IRl
“GR ga1 I ¢, Yol STeTeR oigdd.

APIITTST (SATF=ReTvT) , TS, €T 3oy fau= (=) et Rl
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Q.P. Code:

F-1(T ST T ST e, & HIeY S IR e, (mwaaﬂam)q@mm.m

AT A e
2 e, g, ﬁwwmmaﬁwmsﬁaﬁﬁm ¥ gEi SR de IR,
3.3R WWWWWW.WW-WWQWWW.

Q.2. Give reference to context any two of the following: [20]

a) W,W,Qﬁmﬁ@qﬁﬂl
b]?a%ﬁﬁﬁzfaﬁ.a%&iaﬁwﬁu
WW&@HWWW%@W%WW@
clﬁwww,aé&aqmﬁn
- ATBHIHY - T, w,ﬁﬁaﬁw,%wwa@a,ﬁrﬁmaﬁwa&ﬁmﬁ.

Q.3. Answer any two of the following: [20]
~ = ™ b - ™ elq \'\H R

A] Fill in the blanks. (Rar=am ST #11)

z.waﬁgaﬁaﬁauﬁqﬁ,mﬁ%ﬁﬁl(ﬁ@rﬁ/wﬁ)
q.mmmm@wmmmﬁlmﬁwmm
3.amqo—of'ﬁaaﬁﬁﬁ,amaaﬁﬁa"ﬁrn (7 | qRIa)

. R arosifs @, 5¢ aamaral | (aTfetra | 37elfo)
q.ﬁﬁmﬁam,mmmﬁwaﬁl(ﬁﬁmﬁ/ﬁa)

B] Complete the verses. (et Ul &RT)
gﬁqﬁaaﬁmm%mﬁtﬁﬂ

3. g Ry ot @8 Prenfw TR |

¥ Qe =f, qg SrEEd |
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Q.P. Code:
C] Match the pairs. (SIT<31 Je3dn)
R. o ST
3. AR £
E qraar
¥. g HIEES
. gHERY EREIEU]
Q.4. Attempt any two of the following: [20]
Tl BIUITel &l QrsaT .
A] Conjugate the following verbs as directed in the bracket. (FRIIT HRTATIHIOT Wcilel CIGRCISE|B)
i) @w(9fasTF1% - Future Tense) i) 95 (El_cﬁTF-T T - Present Tense)
iii) 79 ( 9THTS - Past Tense)
ST CIEREE)
¥ = e, v
NS TFEET _FTaET
Ts7 gRE afereaf EIE IR
nfsaw qRe KIEESIT atvET
T IRE EIEEIED RIEEIE
FAATAHD
9% ==
LSl | T Bl
TSH qRE | Tt TSt
wfserm g | s ECol
ITH IR T TBH
Hdhld
TH =THEHRIE 0
RS LETECH SEETE L)
T
wisaw e T, st afae, sHfaer
B] Conjugate the following Moods as directed in the bracket. (FHI HiRIAATIHTOY Wietiel &1 3 Hremr.)
i) 2 (3113|T‘<’f - Imperative Mood) i) I (H%TdT?f- Conditional Mood)
iii) 9< (ﬁ%‘éﬁf— Potential Mood)
EIRIR]
&H = g
qRe THIET e ——
RS T G
Afsaw gRe e RS
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Q.P. Code:
GEGIRE
T = FT=AT HIO

i THEAA EREER
957 IR ERNE ] R RS
wiomw qRE STAT=reE AT
I IR" st srTfRreTRT

fa=rt

€ = A0

MRS THFET FAET
wow IR T, oA FaH, a5
Aiaw gRe EEEZNE] ECE2IR ]
ERL A IR T =T FIATH

C] Read the given passage and answer the questions thereon.(in Pali)

fereten IART ar=r snfor gifer AT weT S forar.

. ST aITEE SRiET T5s i aidadl wie qelNrge Mewl [asd g &y e

WWWWWWWWWWWW
g TN 9 SoeT Aeged il ST seafan] gl areEdE aRga T
e gl fawif | ot GTlﬁﬂ%lﬂlﬂﬁaﬁ ST A Tl ST AIae SFHETE Il | aToE)
i) Wﬂ% IEEl § CHE Jgus] FATEn 9ReI | A dgue wahd ‘demlEd T
FH | | -_mlwod QST AR TG = A S | e e Tl fBt AT
AGTE qis e T gen § Teme ‘awd i & onffed afeser T gfesen e g
“ATEEET Al el AW A, o7 Ug Sl oE |

(8) A SV F&le< ool i el Fie e ?

AL A AR SEed ol it SIEEl Bl HelHRge i |
() aTaET & giesiT ?

I~ AT9ET A GOREEE SWIeEl  UhiH deds JaTdr afesid |

(3) Siftraar d b emafe?
a-“onfafeds gfg fawamar am afer, o1 td semerfa afafe |

Q.5. Write short notes on any two: [20]

TTelIcueh! HITTETR! STiaT ST foral -

a] Explain the moral of “JUU[HY {Tcfeh qUUHT.
“qUUE ST JUUTHT TN S R @RI
b] On the basis of ‘3TeRHIAY” explain the philosophical importance of that sutta.
ST G BT STEN 1 AT FHIoD Hed W .
c] What you learn from the ‘“FeMSTarFIGHISRTAT’ . Explain in your words.
TSI AT AT Urelgd Jral a1 R ? JHaar I W ax=.

d] Write the Summary of ‘&g’
‘A RAYT A iR forET.
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